

# A Seneta's Conjecture and the Williamson Transform

Edward Omey and Meitner Cadena

**Sahand Communications in  
Mathematical Analysis**

Print ISSN: 2322-5807  
Online ISSN: 2423-3900  
Volume: 20  
Number: 4  
Pages: 227-241

Sahand Commun. Math. Anal.  
DOI: 10.22130/scma.2023.1983415.1223

Volume 20, No. 4, September 2023

Print ISSN 2322-5807  
Online ISSN 2423-3900

Sahand Communications  
in  
Mathematical Analysis



Photo by Farhad Mansoori

Sahand Mountain, Maragheh, Iran.

SCMA, P. O. Box 55181-83111, Maragheh, Iran  
<http://scma.maragheh.ac.ir>

## A Seneta's Conjecture and the Williamson Transform

Edward Omey<sup>1</sup> and Meitner Cadena<sup>2\*</sup>

---

ABSTRACT. Considering slowly varying functions (SVF), Seneta in 2019 conjectured the following implication, for  $\alpha \geq 1$ ,

$$\int_0^x y^{\alpha-1}(1-F(y))dy \text{ is SVF} \Rightarrow \int_0^x y^\alpha dF(y) \text{ is SVF, as } x \rightarrow \infty,$$

where  $F(x)$  is a cumulative distribution function on  $[0, \infty)$ . By applying the Williamson transform, an extension of this conjecture is proved. Complementary results related to this transform and particular cases of this extended conjecture are discussed.

---

### 1. INTRODUCTION

A function  $f(x)$  is slowly varying (SVF) if for any  $t > 0$ ,  $f(tx)/f(x) \rightarrow 1$  as  $x \rightarrow \infty$ . If  $F(x)$  is a distribution function and  $\bar{F}(x) = 1 - F(x)$  is its tail, recently Seneta [9] conjectured the following. Given  $\alpha \geq 1$ ,

$$(1.1) \quad \int_0^x y^{\alpha-1}\bar{F}(y)dy \text{ is SVF} \Rightarrow \int_0^x y^\alpha dF(y) \text{ is SVF, as } x \rightarrow \infty.$$

Nowadays, Kevei in [5] presented an extension of this conjecture and its proof. In this paper, we also prove an extension of such a conjecture, but unlike Kevei's proofs, ours are based on mainly the Williamson transform. Moreover, the application of this transform to  $F$  allows the formulation of another conjecture. Finally, such extended conjecture includes the generalized gamma class.

In the following section, we present our main results. The proofs of these results are presented in Section 3. Complementary results related to the Williamson transform of  $F$  and analysis of particular cases of  $\alpha$

---

2020 *Mathematics Subject Classification.* 26A12, 60E05.

*Key words and phrases.* Regular variation, De Haan class, Truncated moments, Williamson transform.

Received: 23 December 2022, Accepted: 06 March 2023.

\* Corresponding author.

are discussed in Section 4. The last section presents concluding remarks and next steps for research on extensions of the findings shown in this paper.

## 2. MAIN RESULTS

**2.1. Some Notation and Transforms.** In what follows,  $F(x)$  denotes a distribution function (d.f.) defined on  $[0, \infty)$  with  $F(0) = 0$ , and  $\bar{F}(x) = 1 - F(x)$  denotes its tail. The  $\alpha$ -th moment of  $F(x)$  is denoted by  $m(\alpha)$ . It is said that  $f(x) \sim g(x)$  if  $f(x)/g(x) \rightarrow 1$  as  $x \rightarrow \infty$ . The case  $f(x) \sim 0$  will be understood as  $f(x) \rightarrow 0$  as  $x \rightarrow \infty$ . The class of regularly varying functions with index  $\alpha$ , denoted by  $RV_\alpha$ , consists of functions  $f(x)$  satisfying, for any  $t > 0$ ,  $f(tx) \sim t^\alpha f(x)$ . If the index  $\alpha = 0$ ,  $f(x)$  is said slowly varying. If  $L \in RV_0$ , then the de Haan class, denoted by  $\Pi_\beta(L)$ , consists of functions  $f(x)$  satisfying, for any  $t > 1$ ,  $(f(tx) - f(x))/L(x) \rightarrow \beta \log t$  as  $x \rightarrow \infty$ . The generalized gamma class, denoted by  $E\Gamma_\lambda(g, a)$  where  $g$  is self-neglecting, i.e., for any  $t \in \mathbb{R}$ ,  $g(x + tg(x)) \sim g(x)$ , consists of functions  $f(x)$  satisfying, for any  $t \in \mathbb{R}$ ,  $(f(x + tg(x)) - f(x))/a(x) \rightarrow \lambda t$  as  $x \rightarrow \infty$ .

In this paper, we assume that  $\alpha > 0$ .

We define the following transformations:

$$H_\alpha(x) = \int_0^x y^\alpha dF(y) \quad \text{and} \quad W_\alpha(x) = \int_0^x y^{\alpha-1} \bar{F}(y) dy.$$

Note that Lebesgue's theorem on dominated convergence shows that  $\lim_{x \rightarrow \infty} x^{-\alpha} H_\alpha(x) = 0$ . Hence, we have

$$(2.1) \quad H_\alpha(x) = \alpha \int_0^x y^{\alpha-1} \bar{F}(y) dy - x^\alpha \bar{F}(x).$$

Among the main results proved by Kevei in [5], we have that, for any  $\theta \in [0, \alpha)$ ,  $H_\alpha(x) \in RV_\theta$  if and only if  $W_\alpha(x) \in RV_\theta$ . The proof for the converse of this result mainly lies in Theorem 8.1.2 in [1], see also VIII.9 by [3].

From the definitions given above, we get the following result.

**Proposition 2.1.** *For  $x \geq 0$ , we have*

$$(2.2) \quad \bar{F}(x) = \alpha \int_x^\infty z^{-\alpha-1} H_\alpha(z) dz - x^{-\alpha} H_\alpha(x).$$

*Proof.* Let us consider the integral  $\int_x^a z^{-\alpha-1} H_\alpha(z) dz$  for  $a \geq x \geq 0$ . We have

$$\int_x^a z^{-\alpha-1} H_\alpha(z) dz = \int_x^a z^{-\alpha-1} \left( H_\alpha(x) + \int_x^z y^\alpha dF(y) \right) dz$$

$$\begin{aligned}
 &= \frac{1}{\alpha}(x^{-\alpha} - a^{-\alpha})H_\alpha(x) + \int_x^a \int_y^a z^{-\alpha-1}y^\alpha dz dF(y) \\
 &= \frac{1}{\alpha}(x^{-\alpha} - a^{-\alpha})H_\alpha(x) + \frac{1}{\alpha} \int_x^a (y^{-\alpha} - a^{-\alpha})y^\alpha dF(y) \\
 &= \frac{1}{\alpha}(x^{-\alpha} - a^{-\alpha})H_\alpha(x) + \frac{1}{\alpha}(F(a) - F(x)) \\
 &\quad - \frac{1}{\alpha}a^{-\alpha}(H_\alpha(a) - H_\alpha(x)) \\
 &= \frac{1}{\alpha}x^{-\alpha}H_\alpha(x) + \frac{1}{\alpha}(F(a) - F(x)) - \frac{1}{\alpha}a^{-\alpha}H_\alpha(a).
 \end{aligned}$$

Taking limits as  $a \rightarrow \infty$ , we obtain  $a^{-\alpha}H_\alpha(a) \rightarrow 0$  and hence

$$\int_x^\infty z^{-\alpha-1}H_\alpha(z)dz = \frac{1}{\alpha}x^{-\alpha}H_\alpha(x) + \frac{1}{\alpha}\bar{F}(x).$$

This proves the result. □

Now, we recall the Williamson transform which is defined by [10],

$$G_\alpha(x) = \int_0^x \left(1 - \left(\frac{t}{x}\right)^\alpha\right) dF(t).$$

Note that

$$\begin{aligned}
 G_\alpha(x) &= \int_0^\infty P\left(Z > \frac{t}{x}\right) dF(t) \\
 &= EF(Zx) \\
 &= P\left(\frac{X}{Z} \leq x\right),
 \end{aligned}$$

where  $Z$  is independent of  $X$  and  $P(Z \leq x) = x^\alpha, 0 \leq x \leq 1$ . This shows that  $G_\alpha(x)$  is also a d.f. with  $G_\alpha(0) = 0$ . Also, we have the following result.

**Proposition 2.2.** *For  $x \geq 0$ , we have*

- (i)  $G_\alpha(x) = \alpha x^{-\alpha} \int_0^x t^{\alpha-1} F(t) dt.$
- (ii)  $F(x) = G_\alpha(x) + \frac{x}{\alpha} G'_\alpha(x).$
- (iii)  $\bar{F}(x) = \bar{G}_\alpha(x) - x^{-\alpha} H_\alpha(x).$
- (iv)  $\bar{G}_\alpha(x) = \alpha x^{-\alpha} W_\alpha(x).$

*Proof.* (i) By using partial integration, we have

$$\begin{aligned}
 G_\alpha(x) &= F(x) - x^{-\alpha} \int_0^x t^\alpha dF(t) \\
 &= \alpha x^{-\alpha} \int_0^x t^{\alpha-1} F(t) dt.
 \end{aligned}$$

- (ii) Writing the previous result as  $x^\alpha G_\alpha(x) = \alpha \int_0^x t^{\alpha-1} F(t) dt$ , deriving this relation, and dividing it by  $x^{\alpha-1}/\alpha$  give the result claimed.
- (iii) Using  $H_\alpha(x)$  and (i), we have  $G_\alpha(x) = F(x) - x^{-\alpha} H_\alpha(x)$  and  $\overline{G}_\alpha(x) = \overline{F}(x) + x^{-\alpha} H_\alpha(x)$ .
- (iv) Using the tail of  $G_\alpha(x)$ ,  $W_\alpha(x)$ , and (i), we find

$$\begin{aligned} \overline{G}_\alpha(x) &= \alpha x^{-\alpha} \int_0^x t^{\alpha-1} \overline{F}(t) dt \\ &= \alpha x^{-\alpha} W_\alpha(x). \end{aligned}$$

□

**2.2. Main Relations.** Our the first main as follows.

**Theorem 2.3.** *Let  $\alpha > 0$  and  $0 \leq \theta \leq \alpha$ . We have:*

- (i) *If  $0 < \theta < \alpha$ , then the following statements are equivalent:*
  - (a)  $\overline{F}(x) \in RV_{\theta-\alpha}$ ;
  - (b)  $\overline{G}_\alpha(x) \in RV_{\theta-\alpha}$ ;
  - (c)  $W_\alpha(x) \in RV_\theta$ ;
  - (d)  $\overline{F}(x)/\overline{G}_\alpha(x) \rightarrow \theta/\alpha$  as  $x \rightarrow \infty$ ;
  - (e)  $H_\alpha(x) \in RV_\theta$ ;
  - (f)  $x^\alpha \overline{F}(x)/H_\alpha(x) \rightarrow \theta/(\alpha - \theta)$  as  $x \rightarrow \infty$ ;
  - (g)  $x^\alpha \overline{G}_\alpha(x)/H_\alpha(x) \rightarrow \alpha/(\alpha - \theta)$  as  $x \rightarrow \infty$ ; and,
  - (h)  $x^\alpha \overline{F}(x)/W_\alpha(x) \rightarrow \theta$  as  $x \rightarrow \infty$ .
- (ii) *If  $\theta = 0$ , then the statements (b), (c), (d), (e), (f), (g) and (h) are equivalent.*
- (iii) *If  $\theta = \alpha$ , then the statements (a), (b) and (c) are equivalent.*

**Remarks 2.4.**

- 1) Taking  $\theta = 0$ , Theorem 2.3(e), (f) and (h) correspond to (17), (18) and (19) in Theorem 3 by [9], respectively.
- 2) Theorem 2.3(a), (e) and (f) are proved in VIII.9 by [3], see e.g. Theorem 8.1.2 in [1].
- 3) The conjecture indicated in (1.1) is contained and extended in the implication, for  $0 \leq \theta < \alpha$ , Theorem 2.3(c)  $\Rightarrow$  Theorem 2.3(e).
- 4) Theorem 2.3(a), (c), (e), (h) and a combination of (f) and (h) correspond to (1.6), (1.4), (1.5), (1.7) and (1.8) in Theorem 1.1 by [5], respectively.

We continue with results when some moments are finite. They are proved with similar arguments used when proving the results presented in the previous theorem. Therefore, proofs for this theorem are not presented.

**Theorem 2.5.** *Let  $\alpha > 0$  and  $\theta > \alpha$ . Assume  $m(\alpha) < \infty$ . Set  $\overline{W}_\alpha(x) = W_\alpha(\infty) - W_\alpha(x)$ . The following statements are equivalent:*

- (a)  $\overline{F}(x) \in RV_{-\theta}$ ;
- (b)  $\overline{W}_\alpha(x) \in RV_{\alpha-\theta}$ ;
- (c)  $x^{-\alpha}m(\alpha) - \overline{G}_\alpha(x) \in RV_{-\theta}$ ;
- (d)  $\overline{W}_\alpha(x)/(x^\alpha \overline{F}(x)) \rightarrow 1/(\theta - \alpha)$  as  $x \rightarrow \infty$ ;
- (e)  $(x^{-\alpha}m(\alpha) - \overline{G}_\alpha(x))/\overline{F}(x) \rightarrow \alpha/(\theta - \alpha)$  as  $x \rightarrow \infty$ ;
- (f)  $m(\alpha) - H_\alpha(x) \in RV_{\alpha-\theta}$ ; and,
- (g)  $(m(\alpha) - H_\alpha(x))/(x^\alpha \overline{F}(x)) \rightarrow \theta/(\theta - \alpha)$  as  $x \rightarrow \infty$ .

Next, results involving the de Haan class follow.

**Theorem 2.6.** *Let  $\alpha, \beta > 0$ . Let  $L(x) \in RV_0$ . The following statements are equivalent:*

- (a)  $x^\alpha \overline{G}_\alpha(x) \in \Pi_\beta(L)$ ;
- (b)  $x^\alpha \overline{F}(x)/L(x) \rightarrow \beta/\alpha$  as  $x \rightarrow \infty$ ; and,
- (c)  $W_\alpha(x) \in \Pi_{\beta/\alpha}(L)$

**Remark 2.7.** The relation (b)  $\Leftrightarrow$  (c) was identified in Theorem 1.1 by [5].

Next, results involving the extended gamma class follow.

**Theorem 2.8.** *Let  $\lambda, \alpha > 0$ . The following statements are equivalent:*

- (a)  $x^\alpha \overline{G}_\alpha(x) \in E\Gamma_\lambda(g, 1)$ ;
- (b)  $g(x)x^{\alpha-1} \overline{F}(x) \rightarrow \lambda/\alpha$  as  $x \rightarrow \infty$ ; and,
- (c)  $W_\alpha(x) \in E\Gamma_{\lambda/\alpha}(g, 1)$ .

### 3. PROOFS

To prove the theorems indicated in the previous section, the following well-known result is used, see [4] and e.g. [2, Theorem 1.2.1]:

**Proposition 3.1.** *Suppose  $U : \mathbb{R}^+ \rightarrow \mathbb{R}^+$  is Lebesgue-summable on finite intervals. Then*

$$(3.1) \quad U(x) \in RV_\alpha, \alpha > -1 \quad \text{iff} \quad xU(x) \sim (\alpha + 1) \int_0^x U(t)dt;$$

$$(3.2) \quad U(x) \in RV_\alpha, \alpha < -1 \quad \text{iff} \quad xU(x) \sim -(\alpha + 1) \int_x^\infty U(t)dt.$$

The following lemmas are also used to prove those theorems.

**Lemma 3.2.** *Let  $\alpha > 0$ . Assume that there exist  $A(x) (> 0)$ ,  $B(x)$ , and  $C(x)$  satisfying, for any  $z > 1$ ,*

$$\frac{W_\alpha(zx) - W_\alpha(x)}{A(x)} \rightarrow B(z), \quad \text{and} \quad \frac{W_\alpha(zx) - W_\alpha(x)}{A(zx)} \rightarrow C(z),$$

as  $x \rightarrow \infty$ , such that, for some  $\xi \geq 0$ ,  $B(z)/(z^\alpha - 1) \rightarrow \xi/\alpha$  and  $C(z)/(1 - z^{-\alpha}) \rightarrow \xi/\alpha$  as  $z \downarrow 1$ . Then, we have

$$\frac{\overline{F}(x)x^\alpha}{A(x)} \rightarrow \xi, \quad \text{as } x \rightarrow \infty.$$

*Proof.* For  $z > 1$ , we have  $W_\alpha(zx) - W_\alpha(x) = \int_x^{zx} y^{\alpha-1} \overline{F}(y) dy$ . Since  $\overline{F}(x)$  is nonincreasing, we find

$$\begin{aligned} \frac{1}{\alpha} \overline{F}(xz)x^\alpha(z^\alpha - 1) &\leq W_\alpha(zx) - W_\alpha(x) \\ &\leq \frac{1}{\alpha} \overline{F}(x)x^\alpha(z^\alpha - 1), \end{aligned}$$

then,

$$\frac{W_\alpha(zx) - W_\alpha(x)}{A(x)} \leq \frac{x^\alpha \overline{F}(x)}{A(x)} \frac{1}{\alpha} (z^\alpha - 1),$$

and

$$\frac{(xz)^\alpha \overline{F}(xz)}{A(xz)} \frac{1}{\alpha} z^{-\alpha} (z^\alpha - 1) \leq \frac{W_\alpha(zx) - W_\alpha(x)}{A(zx)}.$$

Taking limits, we obtain

$$\alpha \frac{B(z)}{z^\alpha - 1} \leq \liminf_{x \rightarrow \infty} \frac{\overline{F}(x)x^\alpha}{A(x)}, \quad \text{and} \quad \limsup_{x \rightarrow \infty} \frac{(xz)^\alpha \overline{F}(xz)}{A(xz)} \leq \alpha \frac{C(z)}{1 - z^{-\alpha}},$$

or

$$\begin{aligned} \alpha \frac{B(z)}{z^\alpha - 1} &\leq \lim \left( \sup \right) \frac{\overline{F}(x)x^\alpha}{A(x)} \\ &\leq \alpha \frac{C(z)}{1 - z^{-\alpha}}. \end{aligned}$$

Now, let  $z \downarrow 1$  to find, by hypothesis, that  $x^\alpha \overline{F}(x)/A(x) \rightarrow \xi$  as  $x \rightarrow \infty$ .  $\square$

**Lemma 3.3.** *Let  $\alpha > 0$ . If  $\overline{F}(x)/\overline{G}_\alpha(x) \rightarrow \lambda$  as  $x \rightarrow \infty$ ,  $0 \leq \lambda < 1$ , then  $\overline{G}_\alpha \in RV_{\alpha(\lambda-1)}$ .*

*Proof.* Assume that  $\overline{F}(x)/\overline{G}_\alpha(x) \rightarrow \lambda$  as  $x \rightarrow \infty$ ,  $0 \leq \lambda < 1$ . By Proposition 2.2 (ii), we have that  $\overline{F}(x) = \overline{G}_\alpha(x) - xG'_\alpha(x)/\alpha$ . Then, we get

$$\begin{aligned} \frac{xG'_\alpha(x)}{\overline{G}_\alpha(x)} &= \alpha \frac{\overline{G}_\alpha(x) - \overline{F}(x)}{\overline{G}_\alpha(x)} \\ &\rightarrow \alpha(1 - \lambda), \quad \text{as } x \rightarrow \infty. \end{aligned}$$

Hence, by applying L'Hopital rule, we have

$$\frac{\overline{G}_\alpha(x)}{\int_x^\infty y^{-1}\overline{G}_\alpha(y)dy} \rightarrow \alpha(1 - \lambda), \quad \text{as } x \rightarrow \infty.$$

Then, noting that  $-\alpha(1 - \lambda) - 1 < -1$ , by applying (3.2), we have  $x^{-1}\overline{G}_\alpha(x) \in RV_{-\alpha(1-\lambda)-1}$ . This result is equivalent to  $\overline{G}_\alpha(x) \in RV_{\alpha(\lambda-1)}$ .  $\square$

**Lemma 3.4.** *Let  $\alpha > 0$ . If  $W_\alpha \in E\Gamma_\lambda(g, 1)$ , then we have*

$$g(x)\overline{F}(x)x^{\alpha-1} \rightarrow \lambda, \quad \text{as } x \rightarrow \infty.$$

*Proof.* Let  $y \in \mathbb{R} \setminus \{0\}$ . We have  $W_\alpha(x + yg(x)) - W_\alpha(x) = \int_x^{x+yg(x)} t^{\alpha-1} \overline{F}(t)dt$ . Since  $\overline{F}(x)$  is nonincreasing, we find

$$\begin{aligned} \frac{1}{\alpha}\overline{F}(x + yg(x))x^\alpha((1 + yg(x)/x)^\alpha - 1) &\leq W_\alpha(x + yg(x)) - W_\alpha(x) \\ &\leq \frac{1}{\alpha}\overline{F}(x)x^\alpha((1 + yg(x)/x)^\alpha - 1), \end{aligned}$$

then, using the binomial expansion formulae,

$$\begin{aligned} W_\alpha(x + yg(x)) - W_\alpha(x) &\leq x^\alpha\overline{F}(x)\frac{1}{\alpha} \left( \alpha y \frac{g(x)}{x} + o\left(y \frac{g(x)}{x}\right) \right) \\ &= yg(x)x^{\alpha-1}\overline{F}(x)(1 + o(1)), \end{aligned}$$

and

$$\begin{aligned} W_\alpha(x + yg(x)) - W_\alpha(x) &\geq \frac{1}{\alpha}\overline{F}(x + yg(x))x^\alpha \left( \alpha y \frac{g(x)}{x} + o\left(y \frac{g(x)}{x}\right) \right) \\ &\geq yg(x + yg(x))(x + yg(x))^{\alpha-1}\overline{F}(x + yg(x)) \\ &\quad \times \left( \frac{x}{x + yg(x)} \right)^{\alpha-1} \frac{g(x)}{g(x + yg(x))} (1 + o(1)). \end{aligned}$$

Taking limits, we obtain

$$\lambda y \leq \liminf_{x \rightarrow \infty} yg(x)x^{\alpha-1}\overline{F}(x)$$

and

$$\limsup_{x \rightarrow \infty} yg(x + yg(x))(x + yg(x))^{\alpha-1}\overline{F}(x + yg(x)) \leq \lambda y,$$

or

$$\begin{aligned} \lambda y &\leq \lim \left( \sup \right) yg(x)x^{\alpha-1}\overline{F}(x) \\ &\leq \lambda y. \end{aligned}$$



This implies that

$$\lim_{x \rightarrow \infty} yg(x)x^{\alpha-1}\overline{F}(x) = \lambda y,$$

i.e.

$$\lim_{x \rightarrow \infty} g(x)x^{\alpha-1}\overline{F}(x) = \lambda. \quad \square$$

*Proof of Theorem 2.3:* Let  $\alpha > 0$ .

Let us prove (b)  $\Leftrightarrow$  (c) in Theorem 2.3 (i), (ii), and (iii) when  $0 \leq \theta \leq \alpha$ . From Proposition 2.2 (iv) we have  $\overline{G}_\alpha(x) \in RV_{\theta-\alpha}$  iff  $W_\alpha(x) \in RV_\theta$  because.

Let us prove (a)  $\Leftrightarrow$  (b) in Theorem 2.3 (i) and (iii) when  $0 < \theta \leq \alpha$ . If  $\overline{F}(x) \in RV_{\theta-\alpha}$ , noting that  $\alpha - 1 + \theta - \alpha = \theta - 1 > -1$ , by applying Proposition 2.2 iv and (3.1),  $\overline{G}_\alpha(x) = \alpha x^{-\alpha} \int_0^x y^{\alpha-1} \overline{F}(y) dy \sim \alpha \overline{F}(x)/\theta$ . Hence,  $\overline{G}_\alpha(x) \in RV_{\theta-\alpha}$ . Conversely, if  $\overline{G}_\alpha(x) \in RV_{\theta-\alpha}$ , from Proposition 2.2 (iv), we have  $W_\alpha(x) \in RV_\theta$ . Hence, by applying Lemma 3.2 with  $A(x) = W_\alpha(x)$ ,  $B(x) = x^\theta - 1$ ,  $C(x) = 1 - x^{-\theta}$ , and  $\xi = \theta$ , we find that  $x^\alpha \overline{F}(x)/W_\alpha(x) \rightarrow \theta$  as  $x \rightarrow \infty$  and, hence,  $\overline{F}(x) \in RV_{\theta-\alpha}$ .

Let us prove (e)  $\Leftrightarrow$  (f) in Theorem 2.3 (i) and (ii) when  $0 \leq \theta < \alpha$ . If  $H_\alpha(x) \in RV_\theta$ , we have  $x^{-\alpha-1}H(x) \in RV_{\theta-\alpha-1}$  and, since  $\theta - \alpha - 1 < -1$ , (3.2) gives

$$\frac{x^{-\alpha}H_\alpha(x)}{\int_x^\infty y^{-\alpha-1}H_\alpha(y)dy} \rightarrow \alpha - \theta, \quad \text{as } x \rightarrow \infty.$$

On the other hand, from (2.2), it follows that, as  $x \rightarrow \infty$ ,

$$\begin{aligned} \frac{\overline{F}(x)}{x^{-\alpha}H_\alpha(x)} &\rightarrow \frac{\alpha}{\alpha - \theta} - 1 \\ &= \frac{\theta}{\alpha - \theta}. \end{aligned}$$

Conversely, if  $x^\alpha \overline{F}(x)/H_\alpha(x) \rightarrow \theta/(\alpha - \theta)$  as  $x \rightarrow \infty$ , from (2.2) we have as  $x \rightarrow \infty$ ,

$$\begin{aligned} \frac{\alpha \int_x^\infty z^{-\alpha-1}H_\alpha(z)dz}{x^{-\alpha}H_\alpha(x)} &\rightarrow \frac{\theta}{\alpha - \theta} + 1 \\ &= \frac{\alpha}{\alpha - \theta}. \end{aligned}$$

Noting that  $\theta - \alpha - 1 < -1$ , we have, by applying (3.2),  $x^{-\alpha-1}H_\alpha(x) \in RV_{\theta-\alpha-1}$ . This leads to  $H_\alpha(x) \in RV_\theta$ .

Let us prove (c)  $\Leftrightarrow$  (h) in Theorem 2.3 (i) and (ii) when  $0 \leq \theta < \alpha$ . If  $W_\alpha(x) \in RV_\theta$ , by applying Lemma 3.2 with  $A(x) = W_\alpha(x)$ ,  $B(x) = x^\theta - 1$ ,  $C(x) = 1 - x^{-\theta}$ , and  $\xi = \theta$  we have  $x^\alpha \overline{F}(x)/W_\alpha(x) \rightarrow \beta$  as  $x \rightarrow \infty$ . Conversely, assume that  $x^\alpha \overline{F}(x)/W_\alpha(x) \rightarrow \beta$  as  $x \rightarrow \infty$ . By Proposition 2.2 (iv), we have  $\overline{F}(x)/\overline{G}_\alpha(x) \rightarrow \beta/\alpha$  as  $x \rightarrow \infty$ . Hence, taking  $0 \leq \lambda := \beta/\alpha < 1$ , Lemma 3.3 implies that  $\overline{G}_\alpha(x) \in RV_{\alpha(\beta/\alpha-1)}$ .

Then, by the equivalence (b)  $\Leftrightarrow$  (c) proved above and from  $\alpha(\beta/\alpha - 1) = \beta - \alpha$ , we have  $W_\alpha(x) \in RV_\theta$ .

Let us prove (d)  $\Leftrightarrow$  (h) in Theorem 2.3 (i) and (ii) when  $0 \leq \theta < \alpha$ . This result holds from Proposition 2.2 (iv).

Let us prove (b)  $\Leftrightarrow$  (e)  $\Leftrightarrow$  (g) in Theorem 2.3 (i) and (ii) when  $0 \leq \theta < \alpha$ . Assume that  $H_\alpha(x) \in RV_\theta$ ,  $0 \leq \theta < \alpha$ . By Proposition 2.2 (iii), we have  $x^\alpha \overline{G}_\alpha(x) = x^\alpha \overline{F}(x) + H_\alpha(x)$ . Hence and using of the equivalence (e)  $\Leftrightarrow$  (f) proved above, we find that, as  $x \rightarrow \infty$ ,

$$\begin{aligned} \frac{x^\alpha \overline{G}_\alpha(x)}{H_\alpha(x)} &= \frac{x^\alpha \overline{F}(x)}{H_\alpha(x)} + 1 \\ &\rightarrow \frac{\theta}{\alpha - \theta} + 1 \\ &= \frac{\alpha}{\alpha - \theta}. \end{aligned}$$

This fact implies that  $\overline{G}_\alpha(x) \in RV_{\theta-\alpha}$ . Thus, it is proved that (e)  $\Rightarrow$  (b). Now, suppose that  $\overline{G}_\alpha(x) \in RV_{\theta-\alpha}$ . Using (2.2) gives

$$\int_x^\infty y^{-\alpha-1} H_\alpha(y) dy = \frac{H_\alpha(x)x^{-\alpha}}{\alpha} + \frac{1}{\alpha} \overline{F}(x),$$

and, by Proposition 2.2 (iv), we have  $\overline{G}_\alpha(x) = \alpha \int_x^\infty y^{-\alpha-1} H_\alpha(y) dy$ . Hence, we get

$$\frac{H_\alpha(x)x^{-\alpha}}{\overline{G}_\alpha(x)} = 1 - \frac{\overline{F}(x)}{\overline{G}_\alpha(x)}.$$

Further, the equivalences (b)  $\Leftrightarrow$  (c), (c)  $\Leftrightarrow$  (h), and (d)  $\Leftrightarrow$  (h) proved above imply that (b)  $\Leftrightarrow$  (d). Then, we deduce that, as  $x \rightarrow \infty$ ,

$$\begin{aligned} \frac{H_\alpha(x)x^{-\alpha}}{\overline{G}_\alpha(x)} &\rightarrow 1 - \frac{\theta}{\alpha} \\ &= \frac{\alpha - \theta}{\alpha}. \end{aligned}$$

This proves that (b)  $\Rightarrow$  (g). Now, assume that  $x^\alpha \overline{G}_\alpha(x)/H_\alpha(x) \rightarrow \alpha/(\alpha - \theta)$  as  $x \rightarrow \infty$ . Using again Proposition 2.2 (iii), i.e.  $x^\alpha \overline{G}_\alpha(x) = x^\alpha \overline{F}(x) + H_\alpha(x)$ , we have, as  $x \rightarrow \infty$ ,

$$\begin{aligned} \frac{x^\alpha \overline{F}(x)}{H_\alpha(x)} &\rightarrow \frac{\alpha}{\alpha - \theta} - 1 \\ &= \frac{\theta}{\alpha - \theta}. \end{aligned}$$

Hence, we use the equivalence (e)  $\Leftrightarrow$  (f) proved above for concluding that  $H_\alpha(x) \in RV_\theta$ . This proves that (g)  $\Rightarrow$  (e).  $\square$

*Proof of Theorem 2.6:* Let  $\alpha, \beta > 0$ , and  $L(x) \in RV_0$ .

Let us prove (a)  $\Leftrightarrow$  (c). The reason for this is  $(zx)^\alpha \overline{G}_\alpha(zx) - x^\alpha \overline{G}_\alpha(x) = \alpha(W_\alpha(zx) - W_\alpha(x))$ .

Let us prove (a)  $\Rightarrow$  (b). Assume that  $x^\alpha \overline{G}_\alpha(x) \in \Pi_\beta(L)$ . Noting that, for any  $z > 0$ ,  $(zx)^\alpha \overline{G}_\alpha(zx) - x^\alpha \overline{G}_\alpha(x) = \alpha(W_\alpha(zx) - W_\alpha(x))$  and  $L(zx)/L(x) \rightarrow 1$  as  $x \rightarrow \infty$ , by applying Lemma 3.2 with  $A(x) = L(x)$ ,  $B(x) = C(x) = \frac{\beta}{\alpha} \log x$ , and  $\xi = \beta/\alpha$ , we find that  $x^\alpha \overline{F}(x)/L(x) \rightarrow \beta/\alpha$  as  $x \rightarrow \infty$ .

Let us prove (b)  $\Rightarrow$  (a). Assume that  $x^\alpha \overline{F}(x)/L(x) \rightarrow \beta/\alpha$  as  $x \rightarrow \infty$ . This means that  $\overline{F}(x) \in RV_{-\alpha}$ . Using  $W_\alpha(x)$ , because  $\overline{F}(x)$  is decreasing, for  $z > 1$ , we have

$$W_\alpha(zx) - W_\alpha(x) = \int_x^{zx} y^{\alpha-1} \overline{F}(y) dy.$$

Then, by using  $L(zx)/L(x) \rightarrow 1$  as  $x \rightarrow \infty$  and the dominated convergence theorem, as  $x \rightarrow \infty$ , we obtain

$$\begin{aligned} \frac{W_\alpha(zx) - W_\alpha(x)}{L(x)} &= \int_x^{zx} y^{-1} \frac{y^\alpha \overline{F}(y)}{L(x)} dy \\ &= \int_1^z y^{-1} \frac{(xy)^\alpha \overline{F}(xy)}{L(xy)} \frac{L(xy)}{L(x)} dy \\ &\rightarrow \frac{\beta}{\alpha} \log z. \end{aligned}$$

It follows that  $W_\alpha(x) \in \Pi_{\beta/\alpha}(L)$ . Hence, we deduce that  $x^\alpha \overline{G}_\alpha(x) \in \Pi_\beta(L)$  by applying the equivalence (a)  $\Leftrightarrow$  (c) proved above.  $\square$

*Proof of Theorem 2.8:* Let us prove (a)  $\Leftrightarrow$  (c). This follows immediately from Proposition 2.2 (iv).

Let us prove (a)  $\Rightarrow$  (b). Assume that  $x^\alpha \overline{G}_\alpha(x) \in E\Gamma_\lambda(g, 1)$ . Noting that, for any  $y \in \mathbb{R}$ ,  $(x + yg(x))^\alpha \overline{G}_\alpha(x + yg(x)) - x^\alpha \overline{G}_\alpha(x) = \alpha(W_\alpha(x + yg(x)) - W_\alpha(x))$ , we have  $\alpha W_\alpha \in E\Gamma_{\lambda/\alpha}(g, 1)$ . Next, by applying Lemma 3.4, we find  $g(x)x^{\alpha-1} \overline{F}(x) \rightarrow \lambda/\alpha$  as  $x \rightarrow \infty$ .

Let us prove (b)  $\Rightarrow$  (a). Assume that  $g(x)x^{\alpha-1} \overline{F}(x) \rightarrow \lambda/\alpha$  as  $x \rightarrow \infty$ . Note that, for  $y \in \mathbb{R}$ ,

$$W_\alpha(x + yg(x)) - W_\alpha(x) = \int_x^{x+yg(x)} t^{\alpha-1} \overline{F}(t) dt.$$

Then, by using the change of variable  $t = x + ug(x)$  and the dominated convergence theorem, as  $x \rightarrow \infty$ , we obtain

$$W_\alpha(x + yg(x)) - W_\alpha(x) = \int_0^y (x + ug(x))^{\alpha-1} \overline{F}(x + ug(x)) g(x) du$$

$$\begin{aligned}
 &= \int_0^y g(x + ug(x))(x + ug(x))^{\alpha-1} \\
 &\quad \bar{F}(x + ug(x)) \frac{g(x)}{g(x + ug(x))} du \\
 &\rightarrow \frac{\lambda}{\alpha} \int_0^y du \\
 &= \frac{\lambda}{\alpha} y.
 \end{aligned}$$

It follows that  $W_\alpha(x) \in E\Gamma_{\lambda/\alpha}(g, 1)$ . Hence, we deduce that  $x^\alpha \bar{G}_\alpha(x) \in E\Gamma_\alpha(g, 1)$  by applying the equivalence (a)  $\Leftrightarrow$  (c) proved above.  $\square$

#### 4. SOME COMPLEMENTS

**4.1. Derivatives.** We briefly discuss statements about the derivatives  $G'_\alpha(x)$  and  $G''_\alpha(x)$ . To this end, we consider the inversion formula, see Proposition 2.2 (ii),

$$F(x) = G_\alpha(x) + \frac{x}{\alpha} G'_\alpha(x).$$

If  $F$  has a probability density function (p.d.f.)  $f$ , we also have

$$f(x) = \left(1 + \frac{1}{\alpha}\right) G'_\alpha(x) + \frac{x}{\alpha} G''_\alpha(x).$$

Now, suppose that  $H_\alpha(x) \in RV_\theta$ ,  $0 \leq \theta < \alpha$ . By Theorem 2.3 (i) and (ii), we proved that

$$\frac{x^\alpha \bar{G}_\alpha(x)}{H_\alpha(x)} \rightarrow \frac{\alpha}{\alpha - \theta}, \quad \text{and} \quad \frac{x^\alpha \bar{F}(x)}{H_\alpha(x)} \rightarrow \frac{\theta}{\alpha - \theta},$$

as  $x \rightarrow \infty$ , and it follows, by using the previous inversion formula,

$$\frac{x^{1+\alpha} G'_\alpha(x)}{H_\alpha(x)} \rightarrow \alpha, \quad \text{as } x \rightarrow \infty,$$

so that  $G'_\alpha(x) \in RV_{\theta-\alpha-1}$ .

Also, if  $F(x)$  has a p.d.f.  $f(x)$ , we find

$$x^{2+\alpha} G''_\alpha(x) = \alpha x^{1+\alpha} f(x) - (\alpha + 1)x^{1+\alpha} G'_\alpha(x).$$

Moreover, if  $xf(x)/\bar{F}(x) \rightarrow \alpha - \theta$  as  $x \rightarrow \infty$ , we have  $x^{1+\alpha} f(x) \sim (\alpha - \theta)x^\alpha \bar{F}(x) \sim \theta H_\alpha(x)$ , and it follows that, as  $x \rightarrow \infty$ ,

$$\begin{aligned}
 \frac{x^{2+\alpha} G''_\alpha(x)}{H_\alpha(x)} &= \frac{x^{1+\alpha} f(x)}{H_\alpha(x)} - \frac{\alpha + 1}{\alpha} \frac{x^{1+\alpha} G'_\alpha(x)}{H_\alpha(x)} \\
 &\rightarrow \theta - \alpha - 1.
 \end{aligned}$$

In the special case that  $m(\alpha) < \infty$ , we have the following corollary.

**Corollary 4.1.** *Let  $\alpha > 0$ . Suppose that  $m(\alpha) < \infty$ . We have  $x^\alpha \bar{F}(x) \rightarrow 0$ ,  $x^\alpha \bar{G}_\alpha(x) \rightarrow m(\alpha)$ , and  $x^{1+\alpha} G'_\alpha(x) \rightarrow \alpha m(\alpha)$  as  $x \rightarrow \infty$ . If  $F$  has a p.d.f.  $f(x)$ , and also, for some  $\delta \in \mathbb{R}$ ,  $x^{1+\delta} f(x) = o(1)$  or  $xf(x) = O(\bar{F}(x))$ , then  $x^{2+\delta} G''_\alpha(x) \rightarrow -\alpha(\alpha+1)m(\alpha)$  as  $x \rightarrow \infty$ .*

**4.2. The Case  $\alpha = 2$ .** If  $\alpha = 2$ , we have  $H_2(x) = \int_0^x y^2 dF(y)$  which is the truncated second moment function. Note that regular variation of  $H_2(x)$  appears when we discuss domains of attraction. As an example:  $F(x)$  is in the domain of attraction of a normal law if and only if  $H_2(x) \in RV_0$ . Then, we have the following obtained result when it is fixed  $\alpha = 2$  in Theorems 2.3 and 2.6.

**Theorem 4.2.**

- (i) *Suppose that  $0 < \theta < 2$ . We have  $H_2(x) \in RV_\theta \Leftrightarrow \bar{G}_2(x) \in RV_{\theta-2} \Leftrightarrow \bar{F}(x) \in RV_{\theta-2} \Leftrightarrow W_2(x) \in RV_\theta$ . Each of these statements implies that  $x^2 \bar{F}(x)/H_2(x) \rightarrow \theta/(2-\theta)$ ,  $x^2 \bar{G}_2(x)/H_2(x) \rightarrow 2/(2-\theta)$ , and  $W_2(x)/H_2(x) \rightarrow 1/(2-\theta)$  as  $x \rightarrow \infty$ .*
- (ii) *Suppose that  $0 \leq \theta < 2$ . We have  $H_2(x) \in RV_\theta \Leftrightarrow x^2 \bar{F}(x)/H_2(x) \rightarrow \theta/(2-\theta)$  as  $x \rightarrow \infty \Leftrightarrow x^2 \bar{G}_2(x)/H_2(x) \rightarrow 2/(2-\theta)$  as  $x \rightarrow \infty$ .*
- (iii) *Suppose that  $L(x) \in RV_0$  and  $\delta = 2\lambda$  for  $\lambda, \delta > 0$ . We have  $H_2(x) \in \Pi_\lambda(L) \Leftrightarrow W_2(x) \in \Pi_\delta(L) \Leftrightarrow x^2 \bar{F}(x)/L(x) \rightarrow \lambda$  as  $x \rightarrow \infty$ .*

Furthermore, if  $H_2(\infty) = m(2) < \infty$ , we have the following result. It is obtained by applying Theorem 2.5 when taking  $\alpha = 2$ . Note that  $\bar{H}_2(x) = m(2) - H_2(x)$ .

**Lemma 4.3.** *Suppose that  $\theta > 2$  and  $m(2) < \infty$ . The following are equivalent:*

- (i)  $\bar{F}(x) \in RV_{-\theta}$ ;
- (ii)  $\bar{H}_2(x) = \int_x^\infty y^2 dF(y) \in RV_{2-\theta}$ ; and,
- (iii)  $\int_x^\infty y^2 dF(y)/(x^2 \bar{F}(x)) \rightarrow \theta/(\theta-2)$  as  $x \rightarrow \infty$ .

Also, we have the following result. It is obtained by applying Theorem 2.5 when taking  $\alpha = 2$ .

**Lemma 4.4.** *Suppose that  $\theta > 2$  and  $m(2) < \infty$ . The following are equivalent:*

- (i)  $\bar{F}(x) \in RV_{-\theta}$ ;
- (ii)  $\bar{W}_2(x) = \int_x^\infty y \bar{F}(y) dy \in RV_{2-\theta}$ ;
- (iii)  $x^{-2} m(2) - \bar{G}_2(x) \in RV_{-\theta}$ ;
- (iv)  $\frac{\int_x^\infty y \bar{F}(y) dy}{x^2 \bar{F}(x)} \rightarrow \frac{1}{\theta-2}$  as  $x \rightarrow \infty$ ; and,
- (v)  $\frac{x^{-2} m(2) - \bar{G}_2(x)}{\bar{F}(x)} \rightarrow \frac{2}{\theta-2}$  as  $x \rightarrow \infty$ .

4.3. **The Case  $\alpha = 1$ .** Now we have  $H_1(x) = \int_0^x ydF(y)$ , the truncated first moment.

Fixing  $\alpha = 1$  in Theorems 2.3 and 2.6, we have the following results.

**Theorem 4.5.**

- (i) *Suppose that  $0 < \theta < 1$ . We have  $H_1(x) \in RV_\theta \Leftrightarrow \overline{G}_1(x) \in RV_{\theta-1} \Leftrightarrow \overline{F}(x) \in RV_{\theta-1} \Leftrightarrow W_1(x) \in RV_\theta$ . Each of these statements implies that  $x\overline{F}(x)/H_1(x) \rightarrow \theta/(1-\theta)$ ,  $x\overline{G}_1(x)/H_1(x) \rightarrow 1/(1-\theta)$ , and  $W_1(x)/H_1(x) \rightarrow 1/(1-\theta)$  as  $x \rightarrow \infty$ .*
- (ii) *Suppose that  $0 \leq \theta < 1$ . We have  $H_1(x) \in RV_\theta \Leftrightarrow x\overline{F}(x)/H_1(x) \rightarrow \theta/(1-\theta)$  as  $x \rightarrow \infty \Leftrightarrow x\overline{G}_1(x)/H_1(x) \rightarrow 1/(1-\theta)$  as  $x \rightarrow \infty$ .*
- (iii) *Suppose that  $L(x) \in RV_0$ . Then  $H_1(x) \in \Pi_\lambda(L) \Leftrightarrow W_1(x) \in \Pi_\delta(L) \Leftrightarrow x\overline{F}(x)/L(x) \rightarrow \delta$  as  $x \rightarrow \infty$ . The relation between  $\lambda$  and  $\delta$  is given by  $\lambda = \delta$ .*

Furthermore, if  $m(1) < \infty$ , we have the following result. It is obtained by applying Theorem 2.5 when taking  $\alpha = 1$ . Note that  $\overline{H}_1(x) = m(1) - H_1(x)$ .

**Lemma 4.6.** *Suppose that  $\theta > 1$  and  $m(1) < \infty$ . The following are equivalent:*

- (i)  $\overline{F}(x) \in RV_{-\theta}$ ;
- (ii)  $\overline{H}_1(x) = \int_x^\infty ydF(y) \in RV_{1-\theta}$ ; and,
- (iii)  $\int_x^\infty ydF(y)/(x\overline{F}(x)) \rightarrow \theta/(\theta - 1)$  as  $x \rightarrow \infty$ .

Moreover, we have that the following result, which is obtained by applying Theorem 2.5 when taking  $\alpha = 1$ .

**Lemma 4.7.** *Suppose that  $\theta > 1$  and  $m(1) < \infty$ . The following are equivalent:*

- (i)  $\overline{F}(x) \in RV_{-\theta}$ ;
- (ii)  $\overline{W}_1(x) = \int_x^\infty \overline{F}(y)dy \in RV_{1-\theta}$ ;
- (iii)  $x^{-1}m(1) - \overline{G}_1(x) \in RV_{-\theta}$ ;
- (iv)  $\frac{\int_x^\infty \overline{F}(y)dy}{x\overline{F}(x)} \rightarrow \frac{1}{\theta-1}$  as  $x \rightarrow \infty$ ; and,
- (v)  $\frac{x^{-1}m(1) - \overline{G}_1(x)}{\overline{F}(x)} \rightarrow \frac{1}{\theta-1}$  as  $x \rightarrow \infty$ .

**Remark 4.8.** The equivalence between  $H_1(x) \sim l_1(x)$  and  $W_1(x) \sim l_2(x)$  for some  $l_1(x), l_2(x) \in RV_0$ , was proved by [8], see e.g. (i) and (ii) in Theorem 8.8.1 in [1].

5. CONCLUDING REMARKS

We have extended and proved the conjecture formulated by [9] on distribution functions (d.f.s) by applying the Williamson transform to

such a d.f.. Interestingly, that application became a new function as part of that conjecture.

This novel application and the procedures used for proving the extended conjecture have motivated us to explore asymptotic behaviors when considering other functions than regularly varying functions. For instance, long tailed functions and functions belonging to the class  $\Gamma_\lambda(g)$ , see e.g. [6]. This class consists of functions  $f$  satisfying, for all  $y \in \mathbb{R}$ ,  $f(x + yg(x))/f(x) \rightarrow \exp(\alpha y)$  as  $x \rightarrow \infty$ . These studies may involve convergence rates as the ones presented in [7]. In a forthcoming paper, we will present the findings of this analysis.

**Acknowledgment.** The authors are indebted to the anonymous referee for his/her helpful comments which improved the manuscript.

#### REFERENCES

1. N.H. Bingham, C.M. Goldie and J.L. Teugels, *Regular Variation*, Cambridge University Press, 1987.
2. L. de Haan, *On regular variation and its applications to the weak convergence of sample extremes*, Mathematical Centre Tracts, 32, 1970.
3. W. Feller, *An Introduction to Probability Theory and its Applications*, John Wiley and Sons, Volume 2, 2nd Edition, 1971.
4. J. Karamata, *Sur un mode de croissance régulière des fonctions*, Mathematica (Cluj), 4 (1930), pp. 38-53.
5. P. Kevei, *On a conjecture of Seneta on regular variation of truncated moments*, Publ. Inst. Math., 109 (2021), pp. 77-82.
6. E. Omeý, *On the class gamma and related classes of functions*, Publ. Inst. Math., 93 (2013), pp. 1-18.
7. E. Omeý and M. Cadena, *New results on slowly varying functions in the Zygmund sense*, Proc. Japan Acad., Ser. A, 96 (2020), pp. 45-49.
8. B.A. Rogozin, *The Distribution of the First Ladder Moment and Height and Fluctuation of a Random Walk*, Theory Probab. Appl., 16 (1971), pp. 575-595.
9. E. Seneta, *Slowly varying functions in the Zygmund sense and generalized regular variation*, J. Math. Anal. Appl., 475 (2019), pp. 1647-1657.
10. R. Williamson, *Multiply monotone functions and their Laplace transforms*, Duke Math. J., 23 (1956), pp. 189-207.

---

<sup>1</sup> DEPT. MEES, CAMPUS BRUSSELS, KU LEUVEN, WARMOESBERG 26, BRUSSELS, BELGIUM.

*Email address:* edward.omey@kuleuven.be

<sup>2</sup> DECE, UNIVERSIDAD DE LAS FUERZAS ARMADAS, SANGOLQUI, ECUADOR.  
*Email address:* `meitner.cadena@gmail.com`